Breakeven Analysis Chart

	BREAKEVEN ANALYSIS FOR FLOWER GARDEN COMPANY
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	5,522
	$2.80
	$85,000
	+
	$15,462
	=
	$100,462
	$14
	$77,308

	
	
	
	
	
	
	
	
	

	6,064
	$2.80
	$85,000
	+
	$16,951
	=
	$101,951
	$14
	$84,756

	
	
	
	
	
	
	
	
	

	6,998
	$2.80
	$85,000
	+
	$19,594
	=
	$104,594
	$14
	$97,972

	
	
	
	
	
	
	
	
	

	7,589
	$2.80
	$85,000
	+
	$21,249
	=
	$106,249
	$14
	$106,246

	
	
	
	
	
	
	
	
	

	8,225
	$2.80
	$85,000
	+
	$23,030
	=
	$108,030
	$14
	$115,150

	
	
	
	
	
	
	
	
	

	9,110
	$2.80
	$85,000
	+
	$25,508
	=
	$110,508
	$14
	$127,540


